EARAROBREBRT —5 XN—ZXBISH—F

202356878 (K) 4AOAXH3H

mb‘ﬁ%—ﬂﬁ C2A/x \(9&1@1 ® ‘[%EH%F&] - | 5 1000 ®
[AE%) 1 % :1,000,000 § ~ 237&:400,000 ™  33#%:250,000H . 43#%&:150,000 5 & :100,000 /9
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
11111 [ HE=RXZEU Y b # 5 | ZEEX 1:(1_3).4 33 369 - | 2 EEZ;) éaﬂﬂf k)
RNV vH—)b B:Fa—FT 4 HE— HIEHUS
PP i 7 | FRER 1:13.7 12 376 — | 4 | a1 [BRA=R G
208l10| PF/TVT— ¥¢53.0 A 3/4) @) | PI=EB
RiYIRIA TSR B:HT /LY h— AFAVRIw R
< - - P EHmZE : - - EaEN (KHF
slylg | vr—0vvr=— v 6| Bz 1(/1;)7 1-1 37.6 1 z:g; g?&gﬂﬂﬁ( )
RiTJUF—Y B:Vv—TT7VT Skl feth
—F5'5 4 7 | FHZE 1:14.0 4-5 7.1 - 3 449 | EEEE (KFH)
48|9|F-I>Y 5.0 (1 172) (o |Lxsts
RIXVNwIVATT B:N=)LTOvYLA NIERTT7—LA
1 » PIEZ =AU v 8 | pllEn 1( 71?1:;) 54 37| - | 8 (4+927) égggz (k3
RiXAYavR—5— B:TUFLEZ mNlT7—L
(L : = = Bo=H (KH)
6177 TAhA—F1F— # 5 g% (17.}5‘;'@) 7-7 36.5 7 (4+715; %EEW
R:FRIAVL—Y B:HILRU REWIE
= o~ SEHERK : - - B (KFHF
7 4| FATLSRYS— 4| 28 (11.1;/.43) 66 | 37.1 5 (4:335) il (K#)
RiRLTHY BFAFLRISA 3 EHEMES
. < KARKHA : - - INBFFEE (W)
glsls IAYVAITIL 4 N 22114/28) 8-8 37.2 [ (4_877) ﬁEEI}J;EE
RiIAYVTSwya B:N—KTx—HhHR SERUS
=—,= BERK : - - YETAZ (Vi)
9 6| 7RS5VSU— # o4 | EEE 1.(166).0 10-10 | 37.7 9 (4_5;) B
RINMVTFSY B:RwyaRk—)b B3Rt | 45153
<4 BEEC : - - JE (K
N - BEC L ED) o4 ffg%_o #A 1(.11/62.)1 99 |38.2 10 (4_52(; ggg( #)
RiAAYIIR—F— B:XAYIIAEYT el
@ 11— —BERIEI
13—7+—
20—+ —
IT=5r= (8,10),1,9,2,4,7,5,3,6
41—7— 8,10,1,2,9,4,7,5,3,6
o ILRE
BB 1 300/ JA R 1-10 370 & 1-8 430 3ER 1-8-10 710
BB 1 120M 1-8 2103 | | # & 1-8 820/ | | 3= 1-10-8 5,000
10 120/ 8-10 260M B E 1-10 1,060
8 110 Ba 1-10 1,800

ABIC OV TRUTEREERRODDZE. THRIIZEL.




